Mid-Year Exam REVIEW PACKET: UNIT 2

Name: Date: Period:

1.) - In which quadrant is the terminal side of the angle 87

g=—2F
TS

[A] Quadrant1  [B] Quadant@l  [C] QuadrantDI  [D] QuadrantIV

2) In which quadrant is the terminal side of the angle 6?
=315 :

[A] Quadrant]  [B] QuadrantDll  {C] Quadrant@l  [D} QuadrantTV

Use the unit circle and a sti‘aighteu_:lée to approximate the value of the expression.

3)
» 4
115
-_ Ifl."t' 4 06 98
-'ﬁ..ﬂ
@{—4.'75) .
[A] 004 [B] —004 S [€] 10 [D] -100
ol 7%)
4) 75
- 1 3 3
(a1 -3 B] S € -3 W T



5) Identify the ratio that deﬁnes the tngonomemc functmn of tI:e angie 6.
cos8 :

c'_ ' . a" e .
(A] ” CmBy €1 £ _[D]

IR o

6. Identify the ratio g for the indicated angle and find its value.
[A] tan45°=1 '[B] 03045‘3:% [C] s“_‘.45°'=i25" [D] c0$45"=l§-
7.) Let @ be an acute angle. Use the given function value and tngonometr;c 1dent1t1es to find the
ndicated l:ngonomeinc function.
I[fsinf= —? find csc 8.
S 5 1
Al B] — g Cl — D} —
[l_” | []3_ - [}15.
8.) Use the fundamental trigonometric identities to determine the simplified { form of the
expression. . 5
~cot Bsin 8 _ 3
[A] cosp [B] cscf " [C] sec [D} tanf
9.) A 20-foot Jadder makes an angle of 62° with the ground as it leans against 2 wall. How far |
up the wall does the ladder reach?.

[A] 22.65 & [B] 17.66ft [c:] 039f -[Dj 37.61 ft



10.)

Find the exact value of the function. [A] & [B] £ [C].‘lU D] -3
cot (~390°) o o

11) - Give the uumber of full cycles of tbe funiction that are found in lhe mterval
y= ZSmenthemterval[ 5m, 11x] T

NER (B] 8 €7 - D1

12) Identify the function shown in the graph.

- [C] y=cosdx . [D] y=sindx

13.) Find the mnphmde and the penod of the function.

~15cos—
S 5 .
1A] Amplit'ude:_w o "~ [B] Amplitude=15
| » Period = 4%
Period =—
IC] Amplitude=—15 '~ [D] Amplitude=-15
1 Period = 4n
Period = 5

14.) Identify the function that has the given amplitude and period. -
Amplitude = 15, period ="— '

'[A]. y=’0,75m_55'35 B] y=075cos3x [C] y=15cos3mx [D} y=15cos3x

15.) The data below répr&s_eni' the average monthly cost of natural gas in an Oregon home. o

Month Aug | Sep | Oct | Nov | Dec' | Jan _ , gg'::....._.__,.
| Cost ($) | 19.80 | 26.24 | 44.33 | 67.35 | 92.38 | 108.96 - ' e i .

' : 0} - o :
Month | Feb | Mar | Apr | May | Jun | Jul ol .
Cost (§) | 115.90 | 109.46 | 91.88 | 67.85 | 43.83 | 26.24 ) o ol
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Which sine func'tiqn best describes the data?

15.) )
[A] elr)= 4815 fﬁi-%‘-} 679 [B] off)= 481 sau(l‘si—12J+.19.3

- . 27 ) ! ' . : iom N
[C] (r)= 481 su{’—ri——-]q-lg.s D] «ff)= 481 sju[“———] 67.
11 3 . [_] )= 6 12 ?

16.) Identify the graph of the function.

"
=T
[A] [B]
€] D]
. Identify the function that is graphed.
) .
[A] y=—cut§ (B] y=-tandx = [C] -FME " [D] y=cotdx
18.)

Identify the equation that matches the description of the function.
A secant function has a phase shift of _57::_ and a period of 8—;-. .

[A] }’=3W(£—15_'“‘} [B] y=sec (%{—Sff:}

4 16
- 8x 15% o L (3x 15z
€] y'_se‘.‘[?+ 15) - o] y--sec(4 i 16)



Identilfy.ﬂ:e eraph of ﬂm_e function.

19.)

- [B]

(D]

20.)

Identify the function that is graphed.

[D] y=-—cot

[C] y=cot—

Ox
=—fan—

{B]_ y



